MAP4C
Day 3: Exam Review

Date:
Unit 5 & 6: Graphical and Algebraic Models

1. Calculate the average rate of change for the tables above including the units. What does the rate of change represent for

each table?
a) X
Hours Earnings
worked ($)

4X, 32y

20X, | 160 Y,

Blopc = z_ﬂ_
v X=X,

. leo-32
20-¢

- /28

/6
:%Ah

-t E‘f‘g hour- m&dr #8’ <erred
2. ldentify each graph as linear, quadratic o

b
) Pages Cost
printed (%)
1000 56
5000 145
_ lus-5%
" 00000
- 99
Joeo
J09222 Y page.
... cost P [045¢

3. Calculate the 1%t differences:

X | y=3x
-1 13)<
» ) 0-(-4) = 3
0 |3o)=0
) 3-—0 = 3
1 3 y
| e /> 6-3 =3
¢ =3

s | 9

b) Calculate the 2™ differences:

3 9 )q‘U:‘!

X | y=x2
1|t
9 =
0 (0)1-:.0/ 2
3 f"‘o -..’
1| 4

' none. Write your answer in the lines to the r

9 Distance Fuel
driven (km) | used (L)
45 3
60 12
= [2-3
6oy~
=4
Ry
:O,GO L
km
jas C.aﬂsumr"‘.lon FréM
/e ren
ght.

TYPE OF RELATION:

(&

L

A/

c) Calculate the growth/decay factor:

X | y=3
=
1

B 3=4)4+4/g -1
0 (%¥=1"

)31 =3
1 bl::') ’

)91 -3
2 |¢-9

91%-9 =
3 E.))f_q;l' 3
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4. Determine if the graph shown represents a quadratic relation or exponential. Show/explain how you got
your answer.
20 f
x |9 i
) 1 ) " T+ Q%qarq'('rc b/¢ .2 i Fhrences
1 ) ) Y Qre. Consteont . 15
2 q ) u
3 (9 ) 1o 10 ]
5 J
®
K
5. ldentify each formula below as linear, quadratic or exponential.
y=2x+1 L (y=my+u)
y=x*+2x+1 |Q (:,.-.Axl.fﬂzﬂr)
y = ZX E (‘-9 - q. b“)
y =20(3)" E
y=X L
|
6. Simplify each expression using the exponeq‘t\ rules (express each as a power with positive exponents).
@HE) _ 3 (Lavw )’ T s
-1 = - = _ S5p~3q -)
’ 3 @) LA
1 - -3 =63 3-(1)
- _3__ - u-u w? = 0 - f’ .
3 o w? =3 ,o?'q"
(- (=) vl
=%
31
e
7. Evaluate each and leave in fraction form
2 3 2
125° [25 |5+ | (256) -3:': ;r (32)7s |2
4 2575 % o~ 62
7 s~ |4 ‘) L6 |9 =2 g|=
3 u |\v 5. =2 78 kX
:(5 / s S
—_ { = Lit
.2 | |t
-5 3 -1
= 2 UJ -2
=" — 25 é 1
= = —f
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L l\\l.-
8. Solve for x coﬂ\"(’;\;.patﬁ\m{-
—_ X t X— X+
%3 _3_; ? @ 6y |2 47 =8 Convert cech
+o
%x= % 52 [2 é,_)(x-x-)_ 3)(;: “)’Am. 2
3 [xl_J g /L |2 - Q
- vz ) ( :)
In=10 y|v \9‘20:-3: 3t
==/ s 1 1
_~ -—"-\
J 2(¢3)=3x +1)
=7
2x—€- 3x+3
( —1=X Z
9. The following formula shows the relationship between A and B.
2(B + 30)
A =
3 5= B+ 1o
a) Calculate B when A is 90 e - 3=
3«90-= M)ﬁsmu (+ply BS by 3 Jos-= &
J 05 =
2 Yo canral out- :t on s
270 = Z(B +30) divid BS by 2 o B o105
2 = to canal o [ X en fS

b) Rearrange the formula to solve for B

1A= 2(B30) |1, Skeol: Mubkiply BS by3 *(3..: 1&_%/
3 2

3A - 2(B430) Stet D BS b2
A D420 éﬁf}.‘- Qubtiact 30 flop 23

2 w0 - %2 L 4
10. The volume of a sphere is given by the formula V = gnrs. Solve forr.

3»\/:__3 2.3 Dkep i Mulbiply B &3
3V _y1c’ Oteg? Divde B3 L am
e ym

\F .iF; 84’,_# - Cube roct RS

2 | — =
i

"w
= L2
o g

COMPLETE: p.332 #1, 3,4, 9, 14 + p.323 #1-3 and p.400 #1, 8, 9, 11, 13, 15, 16, 18b and 19cf
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